depth in meter

CTD pressure [dBar]

depth in meter

s%art depth (.red) (.blue) Surface distance

-50

-100

-150

-3950

-4000

-4050

-4100

-500
-1000
-1500
-2000
-2500
-3000
-3500
-4000

P06 station #230 (V2) Figure 4
end depth

A% NN N NS N LR ANRN NN O =TI~~~ 77 .. ]
-50
o
(O]
S
< -100
=
o
5
-150
50 100 150 200 7100 7200 7300 7400 7500
time in ensembles time in ensembles
bottom (--k) LADCP depth (-k) bottom distance (.b)
T T T T T T T T
bottom at: 4136 [m] ADCP was 7 m above bottom
i e st T == T T | T— - il 9 s * I._A
2950 3000 3050 3100 3150 3200 3250 3300
time in ensembles
Cut CTD profile best lag W: 17 scans ~ -17 sec. ¢:0.99347
| I Ll
| | o) down cast
L -
.' I 9
| | S 05
1 f >
| | —
o
| | T O0f up cast
| [
L i >
| I =
i , , N -0.5 , ,
0 1 2 3 10 20 30 40 50

Time in hours sample scans (b)ADCP (r)CTD



